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The total number of questions answered should not exceed segy
Mathematical Tables may be obtained from the Superintendey,

1. Assuming that s=ué—3g#, u=1,000, and g=32, find
(i) the value of s when ¢=10,

(ii) the values of ¢ when s=0,

(iii) the value of s when tzg-
25 marks]

2. A shopkeeper purchased d dozen eggs at x pence per dozen,
94 dozen which were twopence per dozen cheaper and 34 dozen which
were a penny per dozen dearer than the first lot. He sold them all ata
price which left him a profit of p pence per dozen. Find

(i) his total profit in pounds ;
(ii) the total cost price in pounds ;

(iii) the average cost price (in pence) of the eggs per dozen.

[25 marks.]
3, Solve the equation
3 1 2
3x—2+x+f 3z—4
and verify your solutions. '
[25 marks]

4. Find a fraction such that if its numerator be increased b?."
and its denominator be diminished by 1 the resulting fraction ¥
equal to %, while if its numerator be multiplied by 3 and its denom
nator be increased by 9 the resulting fraction is equal to Z.

(25 marks]
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orise as fully as possible :
(i) 27a®— 6453,
(i) a2 2xy — 3y — 2u2-4+- 292,

(i) be(b—¢)+-ca(c—a) -Lab(a—b).
[26 marks.]

The perimeter of a rectangle PQRS is 20 inches : draw a graph
‘how the area varies as the length of PQ increases from 0 to
; possible value.

z=length of PQ and y=area of rectangle).

a your graph find the maximum area of the rectangle and the
ding value of PQ.

[30 marks.]

N ve the equation 2*4-4=6x. Find the value of the ex.
e ession. (72-2)(* —624)-+10 when 2=3— 4/3,

what other values of » would the expression have that same

[30 marks.]

B ove that }Dg‘%]{:[ogsM—logaN.

for what value of x the expression 2logz®—3logz shall be
i to 1-2.
[30 marks.]

xplain the difference between a “ conditional equation ” and
ical equation.”

;s B 10
—2) 3(x+2) 3(3x—2)(x+2)
are the values of A and B ?

be true for all values

) ; [30 marks.]

0. Two men, A and B, walked at uniform rates from P to Q and
P. A started an hour later than B, overtook him when 2
om ), met him again 32 minutes later and reached P when B
es behind., Find the distance from P to Q.

[30 marks.]




